

06/27/2023 09:00 AM | Install Day 1 06/28/2023 09:00 AM | Install Day 2 06/28/2023 01:00 PM | Event 06/29/2023 09:00 AM | Strike PO: Shipping Address: Private Home 37 Beverly Park Circle Sacks Productions 23622 Calabasas Road Suite 351

Invoice Date:

Calabasas, CA CA

Due Date: Upon Receipt

Salesperson: Angela Murelli

	AM Strike 37 Bever	y Park Circle	Salesperson. Angela Murein			
Description		Qtty	Price		Total	
Adult Lounge						
	Perimeter Pullback Drape - Off White single sided; Instock for a 20' x 30' Tent Canopy	Gauze 1	\$1,350.00	T	\$1,350.00	
	Exterior Ceiling Cap - White Poplin for a 20' x 30' tent canopy	1	\$1,100.00	Т	\$1,100.00	
	Perimeter Valance - Interior & Exterior Red and white Stripped Valance	r 1	\$1,250.00	Т	\$1,250.00	
	Mushroom Paper Lanterns all assorted colors and sizes	1	\$1,800.00	Т	\$1,800.00	
	Kids Mushroom Table - Assorted Col	or 4	\$200.00	Т	\$800.00	
	Kids Mushroom Seats - Assorted Col	or 12	\$85.00	Т	\$1,020.00	
	New York Bar 8' - White Frame Hand Painted Mario Details Ronald and Richard	2	\$1,250.00	T	\$2,500.00	
	Straight Barback 8'L - White	2	\$250.00	T	\$500.00	
	Ibiza Half Moon Sofa - White	4	\$550.00	T	\$2,200.00	
	"?" Box Tables 24" x 24" painted yellow to resemble the movie	8	\$200.00	Т	\$1,600.00	
	Ottoman Pod 18"D	12	\$45.00	Т	\$540.00	
			Total Adult Loui	nge	\$14,660.00	
Food & Activity S	tations					

Description		Qtty	Price		Total
Y	Garden Props - Umbrella Square 10' Umbrella 10" - Red Poplin for the bars and the DJ Booth	5	\$200.00	Т	\$1,000.00
	Dj Booths - Montecito - Painted TBD	1	\$650.00	T	\$650.00
		Total Food	d & Activity Stati	ons	\$1,650.00
Additional Item	s & Props				
	'Tube' Tunnel Entry 16'W x 6'D pulling inspiration from Mario World at universal studios	1	\$6,500.00	Т	\$6,500.00
	'Travel Tube' Pedestal - Round 24"x 30"h painted green (see movie reference image)	1	\$170.00	Т	\$170.00
	'Travel Tube' Pedestal - Round 30"x 38"h painted green (see movie reference image)	1	\$185.00	Т	\$185.00
	Oversized Plush 'Donkey Kong' to hang in the main tree	1	\$400.00	Т	\$400.00
	Wooden Barrel 'DK' stacked wooden barrels with DK logo on front	6	\$150.00	Т	\$900.00
	Oversized Mushroom 6'H	1	\$500.00	Т	\$500.00
	Oversized Mushroom 4'H	3	\$250.00	Т	\$750.00
	Oversized Mushroom 3'H	2	\$200.00	Т	\$400.00
	Oversized Mushroom 24"H	2	\$175.00	Т	\$350.00
	Oversized Mushroom 12"H	1	\$125.00	Т	\$125.00
	Mushroom Prop Big- Assorted Color	1	\$200.00	Т	\$200.00
	Mushroom Prop Small - Assorted Color	4	\$85.00	T	\$340.00
	Ottoman Pod 18"D - Custom Mushroom Cover for additional kids seating	12	\$200.00	Т	\$2,400.00
	Mushroom Head Plush Pillows (10) Red (10) Green	20	\$65.00	Т	\$1,300.00

Description		Qtty	Price		Total
	Mario Character Plush Pillows (20) Mario (20) Luigi (20) Toad	60	\$65.00	Т	\$3,900.00
	Piranha Flower Plush Figures	20	\$65.00	Т	\$1,300.00
		Total Additi	onal Items & Pr	ops	\$19,720.00
Dessert Display	,				
	Exterior Ceiling Cap - White for a 10' x 15' tent Canopy	1	\$600.00	Т	\$600.00
	Perimeter Pullback Drape - Off White Gauze for a 10' x 15' tent Canopy	1	\$675.00	Т	\$675.00
	Perimeter Valance - Red and White Stripe for a 10' x 15' tent Canopy	1	\$625.00	Т	\$625.00
	'Travel Tube' Pedestal - Round 30"x 38"h painted green (see movie reference image) for Cake and dessert display	1	\$425.00	Т	\$425.00
	'Travel Tube' Pedestal - Round 24"x 42"h painted green (see movie reference image) for Cake and dessert display	1	\$400.00	Т	\$400.00
	'Travel Tube' Pedestal - Round 40" X 32"h painted green (see movie reference image) for Cake and dessert display	1	\$450.00	Т	\$450.00
		Total Dessert Display			\$3,175.00
Race Car Photo	Ор				
	Exterior Ceiling Cap - White for a 10' x 15' tent Canopy	1	\$600.00	T	\$600.00
	Perimeter Pullback Drape - Off White Gauze for a 10' x 15' tent Canopy	1	\$675.00	T	\$675.00
	Perimeter Valance - Red and White Stripe for a 10' x 15' tent Canopy	1	\$625.00	T	\$625.00
		Total	Total Race Car Photo Op		\$1,900.00
Services					
	Installers: Install (1) Days	8	\$500.00		\$4,000.00
	Installers: Touch Ups	2	\$350.00		\$700.00
	Installers: Strike	6	\$450.00		\$2,700.00
	Trucking: 24'L	3	\$450.00		\$1,350.00
	Trucking: Fuel Surcharge	3	\$65.00		\$195.00
	Prop Decor : Pick Up and Return	1	\$850.00		\$850.00

Description	Qtty	Price	Total
Manager: Onsite	1	\$850.00	\$850.00
Manager: Layouts and Sourcing Product	1	\$1,250.00	\$1,250.00
Custom Artwork: Hand Painting Details	1	\$2,000.00	\$2,000.00
Please make checks payable to Revelry, Inc.		Total Products:	\$41,105.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it	Total La	bor/Services/Misc: Taxes :	\$14,545.00 \$3,904.98
Notes	Discounts: Total:		(\$0.00) \$59,554.98
		Payments:	(\$0.00)
		Balance:	\$59,554.98